T4 0 BRI BB
@ %2182 A% R




E4H O BRI FRIE
& 42 A% M

EAST CHINA UNIVERSITY OF SCIENCE AND TECHNOLOGY PRESS




BEERSE (CIP)HE

KB 4 HE R HEH+ BEE S MP3 58 /B IR . %) 8k
EH. — B8 HERET A H R .2010, 7

(B EEEN

ISBN 978 -7 - 5628 - 2827 -3

I.OK... B.OK...0%... M. DRIE-UF g5
- KEXR-JH V. DOH319.9-44

FERAE B CIP $iE# 5 (2010)4 103967 &

YL EEAS
KERE 4 FERWTHER + L0 MP3 X&)
* &/ /ORI TR
W HE / FRIE (samwyf@sohu. com)
RERE / FEH
wERX / £EB
HEigI / i E
HIR&EST / EHRE T RK¥FEH R
o k. VTR B B 130 5,200237
B 1% (021)64250306 G &3
(021)64251904 (SR E %)
&  H:(021)64252707
P 3k :press. ecust. edu.cn
Rl /Lo AT HEEn ]
& / 787mm X 960mm 1/16
¥ /13
%/ 253 T
W/ 20104E 7 A% 1R
W /20007 AFE 1K
# / 16000
S / ISBN 978 -7 - 5628 - 2827 - 3/H - 987
# / 26.00 JE(& MP3 &4

(AR RERM, FE AT H AR

AHEIZ2FNZHD



il

B

W B 2E R K RIE SR P — D EE AR, R 2 A RS TR S 5
EEHEN—TULRE DR, WOEE NS EKRFEIOE 4 95 08 W ) 5
ST BIERE R B 35% . WM T BRME R EA T EBELENEM . XLRE K
KB KR%FIAENT HE NG, APLUCRFEEFIRBEHFE RO E
RFE E ESRAUEN L 55 5 588 Bl & AR A AR | B ) 4 1 T Gk 5
TRZFHEIE 4 FCHFERD H R P2 R, 24T U AW G — A48 S M #
L REFE BT R A R AR S IR T K.

EPREFRE 26 £E. BEIRXE S = AN LB (Part 1) VB E M4 B (Part
)W Sy 3¢ (Part T,

BB R 5 K F R 4 RE R CGHERD B2 — 8. &5 .
KX, B XM EES, #MEE THESIE B HBEATH S, EHH
HEUE AT HE B ZARE ., REKEMMERE . L0 % IR
L HPNTEE, EE D 5 B RN,

BoHAEBER PR ERAN LR . R R T M H Iy
W R KRR, BN B E MR B R T A ®E.

EB=EANFTHEL AETHAMNE EXENTEIHTOXFHE. (FH
EXHABEXED

KT AT E NG, T HE — 2R 8 (Test One) & — 43 7 A X B L ¥] " (Direc-
tions) Z4h, KA K ERB A F A, :

2006 F 12 HE 2010 6 AW N BEBEXED,



1
%lu

TEEST 1 wve vt srevennseareanenanntonsensonensaonesnsonsasnarescscnsossornanssassonassansesncsssasos (])
TEST 2 +vvoveveessecesseenseoranseansace sasosssrsnseasscanonssessnsessasssonnnvasnesasssssasesossos (Q)
1 R3S PN G 1))
TEST 4 ceeeerantmtsstnntntuutentontintieitn ittt eetes it st s s sts s e s s s e ene (23)
TEST 5 eveemececaarerestteasconotustesanassassstocestnsasensancstosnsnnsasrosassonssnasessanseass (3])
TEST 6  +eocevovevetnteocsarscatorscesacesesscesasonssnsssasssnsessessssssnsnassnsesssssnsassnnses (30)
TEST 7  seceescesorsosssesarstasosestoscsssnsssnsussussssncascssorassasssossassasssnasssnssseess (47)
TEST §  ceveeereneeneaorecnsensocsoreanssasacearsenssnssesnessesnssasnsnsnesassnsassasnsannaenns (54)
TEST G seereecesensetsteotstasumtmeonetisotsaiaseesnsontarentesassosaccnrssesrasssnssrsnsssanes (G2)
TEST 1() +evcecesesasocesaeactasearacesasionsuns susuennessenaresasansnsnnrscsnnnerasansannnnsasenns (70)
TEST 11 cereressscasestocaotosesnneassorsonssesatescsorssssssssssonssessssscnscesansasonsssscoases (78)
TEST 12+t cermreesentostsesteecrstsmontosscssnnsnnsressnssnssassossnssnssnesessnsassesssasssnses (85)
TIEST 13 evevrcersenseseunetneotattsinestesuscuncsetseusnnenssns oasoascasssssessnssnssssnssnsres (92)
TEST 14 cevveeveensanesasansettantimtiiiiiiisciasse tee et senees st sssanssisssesensansesannane (99)
TEST 15  cerereerarencntattuioctioiitieareocistscsnsnsssiossissrsomescssssoasarssnssscesssaass (107)
TEST 16  teresserescereronearetiaraeeonoreonestecosassosecsesassssnssesessssssssennnsaesnsnanans (114)
TEST 17 e trreresaceeacssosesrencsossasastesessnesnsssassnnnssesserssonsssnnsnnsesasssssnress (122)
1 2R A - S I @ 1 10D
TEST 1O  teverserrsresaeuenocnscarasracnroerasneresasnsrectesasssacsssscsssassssasssesssssensns ( 138)
TEST 2 eveesecasncorertencectenrasarcreseseessnsansonsrmnnmessnarssssosessnnrssanssecssssaces (146)
TEST 21 wereeeeresesmesesaccceeatisnssssoressasnsoneosssssnsstssocesssnssssnsssassseesascnssas ( 154)
TEST 22 seeceentaeacttsteuentrestuassuraoiesissasassosserssorsesnarssessnsnensrecneonseassessss ( 162)
TEST 23 et eevereeteseeuenutncueraetaearannestenssunsasessesasaseasnsensnsnanarnasssnsncessnces (169)
TEST 24 e+ eveeerrraseeorearesesasecnonmsorssnsseessnorerassarasssssssecessssasssssesssseneases (177)
TEST 25  +veresecesunneseceatecesomisueorsosonessesesnsscsseessnsnsasesssrssssssssssscsesnenee ([86)
TEST 26  rereevereststntntenresnesinsesartorssresesassonssnscasorastenasssssesssnossnsassonesns (104)
L = T P PTG . 7t - 1: D)



TEST 1

Part [ Listening Comprehension (35 minutes)

Section A

Directions: I this section, you will hear 8 short conversations and Z long conversations.
At the end of each conversation , one or more questions will be asked about what was
said. Both the conversation and the questions will be spoken only once. A fter euch
question there will be a pause. During the pause, you must read the four choices
marked A)s B)s C)s and D), and decide which is the best answer. Then mark the

corresponding letter on Answer Sheet 2 with a single line through the center.

1. A
B) He watched the film with his friend in a cinema.

~

He watched the film on TV with his friend.

C) He and his friend went to visit their school.
D> He talked with his friend at home.
2. A) Whether the meeting is certaihly to be held on Monday.
B) Who has to attend the meeting.
C) What they are going to discuss at the meeting.
D) Where the mecting is to be held.
3. A) The man comes to book a room.
B) The man had a reservation at the hotel some time ago.
C) The man wants to move to another room on the second floor.
D) The man wants to buy the flat with a single room and a bath.
4. A) The hardcover edition is a little more expensive, though on sale.
B) Both editions are on sale.

C) The dictionary once had two editions with the same price.
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D) Both editions are the same price now.
5. A) He saw the big tower he visited on TV.

B) He has visited the TV tower twice.

C) He has visited the TV tower once.

D) He will visit the TV tower in June.

6. A) A movie. B) A lecture. C) A play. D) A speech.
7. A) The house is lovely. B) The man is funny.
C) She likes the house. D) She is angry at his remark.
8. A) Her husband’s watching a game. B) Their going to a game.
C) Their missing an engagement. D) Her husband’s absence from the game.

Questions 9 to 12 are based on the conversation you have just heard.

9. A) She was sick.
B) She couldn’t make up her mind as to which countries she should visit.
C) She couldn’t think of a topic for her composition.

D) She was totally disorganized.

10. A) Tﬁat she go on a holiday. B) That she try to get organized.

C) That she ride a camel. D) That she write about her trip.
11. A) Hungary. B) North Africa. C) Egypt. D> The Holy Land.
12. A) To pack his bags for his trip. B) To write his own composition.

C) To see a doctor for his illness. D) To pick up some photographs.

Questions 13 to 15 are based on the conversation you have just heard.
~13. A) Jack telephoned from Chicago.
B) Jack wrote a card from Chicago.
C) Jack had sent a telegram from New York.
D) Dorothy’s mother and father told her.
14. A) The Ambassador Hotel in Los Angeles.
B) His office.
C) The airport in Chicago.
D) The airport in Los Angeles.
15. A) It was too far for Dorothy to drive through traffic.
B) Jack didn’t want to be obligated to Dorothy’s parents.
C) Jack had to go to his office.
D) Jack preferred the Ambassador Hotel in Chicago.



Section B

Directions: In this sections you will hear 3 short passages. At the end of each passage,

you will hear some questions. Both the passage and the questions will be spoken only

once. After you hear a question, you must choose the best answer from the four

choices marked A), B), C), and D). Then mark the corresponding letter on Answer

Sheet 2 with a single line through the center.

Passage One

Questions 16 to 18 are based on the passage you have just heard.

16.

17.

18.

A) They appear every night in TV weather forecasts.

B) They were first employed as women news announcers.

C) They are the most attractive women in Britain.

D) They are the most popular stars in a TV play.

A) At 10 in the evening. B) At 9 in the evening.

C) At 10 in the morning. D) At 9 in the morning.

A) Newspaper reporters still wrote a lot about her.

B) People knew that Anna would be the first woman to hold the news program.
C) Independent Television also had a woman news announcer.

D) The viewers of her news program that night increased to millions.

Passage Two

Questions 19 to 21 are based on the passage you have just heard.

19.

20.

21.

A) To collect taxes. B) To save public lands for future use.

C) To protect people and property. D) To train public officials.

A) Because people want to save public lands for future use.

B) Because no person wants to buy any public lands.

C) Because the government has collected enough money to pay the cost of any
service.

D) Because the government has no public lands to sell.

A) People’s attitude toward taxes. B) Taxes and services for the public.

C) Police efforts to protect people. D) The government’s duty.
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Passage Three_
Questions 22 to 25 are based on the passage you have just heard.
22. A) Better types of skates.
B) Improved conditions on ice tracks.
C) Changes in skating techniques.
D) New world records in speed skating.
23. A) They all had equal opportunities of winning.
B) They couldn’t compete in the Winter Olympics.
C) They all wore the same kind of skates.
D> They had to skate on outdoor tracks.
24. A) It chips easily. B) It becomes covered with frost.
C) It becomes too soft. D) It provides too much resistance.
25. A) Spced skating will become more popular.
B) Speed skaters will skate faster than ever before.
C) Speed skating events will return to outside tracks.

D) Speed skating will never be held outdoors.

Section C

Directions. In this section, you will hear a passage three times. When the passage is
read for the first time you should listen for its general idea. Then listen to the
passage again., When the passage is read for the second time ., you are required to
fill in the blanks numbered from 26 to 33 with the eract words you have just heard.
For the blanks numbered from 34 to 36 you are required to fill in the missing
information. For these blanks. you can either use the exact words you have just
heard or write down the main points in your own words. Finally, when the passage

is read for the third time, you should check what you have written.

The American sports goods group Reebok is to be bought by its German rival
Adidas for 3. 8 billion dollars. The deal, which must still be approved by shareholders,
will help Adidas compete more (26) against the market leader Nike.

Adidas and Reebok are two of the world’s (27) consumer brands, but
they’re in the shadow of Nike, the (28) of the sports wear industry. This
deal is (29) to help them take on Nike.

Adidas chairman Herbert Hainer (30) the planned deal as a once-in-a-



lifetime opportunity to combine two of the most respected and well-known companies

in the (31) . But Reebok will continue to have a separate identity. (32)
its name and its headquarters in the US state of Massachusetts.

The enlarged company will have a (33) of the all-important US market

for sports shoes and clothes. (34)

. The German arm, Adidas, will continue its emphasis on

goods for competitive sports (35)

Adidas pays a glittering array of celebrities including the footballer David

Beckham and the rap musician Missy Elliot to endorse its products. (36)

Part | Answers and Analyses

Section A

1. 58AD, AR5 4AHMEHRAEEMES . “0 meant to do it. "R B L A4
BEAUEAN. BEHTFHAWBIR, ETEEK, 52847 7K E KR,
mean to do something 2 5 “$7H {43 F” ;mean something (doing something) &k
R AT, |

2. BENC, EEMRL MMM S. “. .. what the meeting is about” LA & “Not
bad news, 1 hope . "R RB L+ X CHEFFEHNE, AR E 8 B A
R,

3. BENB, BEMASE MR EESFEMWEES . ‘1 believe. .. a room booked for
me.” 1 “I hope it will suit you, sir.”3X ¥ 8 X335 2 /R 5 4 B 2k B KI5 IE 3£ 4 356
PLTH BN, HAESEIE T . X B “book” fl “reserve (reservation, 45 &))" & [f] X
1] ERECTIT B

4. BEHN D, HEWR %L HEF RS B ARE S . hardcover edition O3 A) 1914
B IF P A 5985 F 5 paperback edition (324 ) #r A% AH A .

5. KRR C, BN ABEERERLNEES . “Butl finally visited it two months
later. 7B B L O LS Wt M., FETIE LB L couldn’t make it last June.”
XU A il 2 i R — Kk AR R Y SR

6. BEHNC, ZEM XL EMBEIR{EBMEES . “performance” fil“real-life drama”
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IS L B0 SE AR 5 19 3K D 2 A B A OC B , EL B A R 48 7R Y R IR B9 £ play”.

7. BEND, ZEMNAEABRMBREEEMEES . ML UrE"a lovely house” J5 , il
)8 “Lovely?” ¥ Y1 IR #b Vb 38 - “FR J2& 76 B0 2 W B g 2” R b i <. be
being BB A H R FE BB ) — MR B SR, B0 He is being careful. {2 #K
BEXRE/NCREM.

8. BENA, ZHMALLEEAFEMETXMWREN., REFRUL LR B L EFER
T E M IS A] A,

9. ZREANC. ZAMRKXEAHMBYRBEENIEN. MENF _AES T LED WS
FRTIERE - E B EH AR ME 4 I just can’t come up with any ideas) .

10. BHA D, HEWREAEMUAREENERT. B L2 E“Remember those
pictures you were showing me last week? The ones from your trip last winter.”
BMEET D REEmEER.

II. XA A, ZHNKALZAABBEEHN TR, MEPERARI b X
Hungary.,

12. 2% N B, TN Z4AHARIRERBMWEES . X\ H B L #"Ive got to finish
my composition too. " FI#EIMM B JLF 58 & —5.

13. &N B, ZEWNIXF BB RGBS MWEE S . “I was wondering when you’d call
ever since 1 received your card from Chicago. 7#2t T & %,

14. 2R3 D. ZBMAFEGEEM LT XHEE . XEH =45 L i iEEL
%, A Bf it — Bl Los Angeles S48 25 Zo &= 47 B 1 » 45 & A2 2K 7] F) W7 fib IE 7€ Los
Angeles ¥1.3; ,

15. BEHRC, AR ZAMEBEFRMITWEES . B "I have to check in at the
office this afternoon. B IRt T& L. “check in”" W EI"HERL .

Section B
Passage One
L, HENARAEG CEET BAFARNEG KTl &) o RN
HMBEEZRAATRTEBEL - ERTHREE, B AT EBMAREFNEBRANTHKE.
ARPNLZHEE A WRHE RS TR S8 RERF LA HARSIET —
Fxah.
16. &£ % B, MK £ B2 AT PN IR AE 0 . MBI BT & RIR 89 IR
HETHINEREZETHRESMZEREN H EFA.
17. BER A, TEWRE A CREERGERMTARES . AN R E DA
frEREAK A EH:5 B et

6




18. &% N D, MR H 4 B IO AE B W R BE . X B IR R R R AT AN
i 5038 Anna B9 B RSEAHE R — B3RS R7” %%Rﬁ‘é%“%ﬁiﬁﬁﬁﬁZ?”o

Passage Two
BABHHFTERRRERPARLMATIOM ™, WAZ=0 HSHTH
Hi. BANKERESHTHRAS TSRS 3, 2200 B H1EEEA R B
WERWIHERARMHET BN RTERSE. ETEN. BT SHREETHE
A, AR MO HERR,FH L HRAERABMI.TVEEEARTRE. A
YL M SR TF & L BT LB AT BLAE 1] ORF SOBE L AR LS R AL S IR S5 s R E 1 ‘
19. BERNC, HEMRXFEERIUREENESN.
20, BERA, ZENREAHBAERGEEMTHEEN. REBEMN UM ERE L
Hi,{A“We want to save them for the future.”
21. BE KB, HWEARNXLEERECERPLOBEWEEN., XERERD TH
FF B0 BR 5 B2 i 5 41 2 AR 55 3l » B 4 S P A B 9 D 2 BT 4 ol iE i BT 6 T R
17Xt £ MR 5 FABOR . HAT KRR R EE L8,

Passage Three
HEBKELTRMRILTES SEREMEZ —., HEPLOR, XTI AE
SREATHY . B T AN B A 8 5 b T 2 4 0 7 A8 1k« T 28 0 UK B 19
AR H R T X B, E NSRS R LU LA L (1S B 2R W LAAE R 45 A 1
TEHMEIE. KRR LR 20 S R, X — S48 BIEE . N 5 R, ki
2 LUK TR AR O KGR L2 A R R G K B TR A R, KGE iR A . BRTE B9 0K
R R AR R AR, R AT UK TR UK A RE T vk HE Rt E B 1. B T X
E‘AU&S‘Jtb%%ﬁJ\ﬂ‘]ﬁfL‘J?,ML,XAE@%EIEAHJ%%@M%tHi%JE?%WB‘J;FﬁéEin
22. BEN B, HE WA A RS X EERNEREES.
23. BRH D, ZBNIXH L WHERABRE S . EARIKFESHEIRARIEFRNE
1%, T AR IR S 3 E RREEE SN S ML 38
24. BEN C, FEM IR A AR E B0 HAE L FIBHERARE T . BLTE E M KIE
VK R A 2 v B K S R B L TT LA BB A O R R X 0T W LAY, BB OR & O K s 1
BRUKCR AN BB 0] b 8 SR AL BT AR OB 1 R
25. KRN B, ZENRFE EE A SUEL BB . WEKFNERE. D
SRR LI T LR A R T .
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Section C

EZEEFHERE S A R A g H E E 5 4 0 F B s BT 2L 38 {2 &
RO . ARAR IR AR AT A AR A M UG ST I BB O B B BT X S B A LA T
TR/ .

PR Hr S BRI A R A H RS HE - EARITRE3RE L&+
FEM R ATF . REWHMWEEFPHR A AR LA .

B R E E SRR AT « WA RISt R s s R A ol R B R R4 B A BB
AREKRETEAEENGENE. SN RS TR A 8 54, R 8 H 5 &R,
A E BRI AE R E LB EM

PIRE R A E R SR RERE ST HY 20% 80 8 B0 TR X E AR
HOAFHSTHARNE ST, AT GE%S ZBEEHEETFRGOMRTH 5S4
PR A B AR & R E A R R,

Pl A AR AEESEE NN ENEREZZ EREIH A KT « W5
VUl MR AR RS K PG - SUBR R O 7R A A e AR T B 2D WU /4 K R B B S e L T 3%

i
26. effectively 27. best-known 28. giant 29. intended
30. described 31. sector 32. retaining 33. fifth

34. The plan is to focus the two brands on different segments of the market
35. while Reebok will be more of a youth and consumer lifestyle brand
36. Reebok has a different approach to marketing which makes less use of big

name sponsorship



TEST 2

Part | Listening Comprehension (35 minutes)

Section A

1. A) Whether it is necessary for her to write to Mr. Smith.
B) Who is going to contact Mr. Smith.
C) What they are going to do at the mccting.
D) Where they are going to meet Mr. Smith.

2. A) The tape was missing. B) Paul brought the tape to the party.
C) The tape had been returned to Jack. D) Paul lent his tape to Jack.
3. A) At 1:00. B) At 2:00. C) Around 3:00. D) Around 5:00.

4. A) The man is about to board the plane to Los Angeles.
B) The man is going to take the next direct flight to San Francisco.
C) The man wants to take a non-stop flight to San Francisco.
D) The man wants to go to Los Angeles.
5. A) The woman has trouble getting along with the professor.
B) The woman regrets having taken up much of the professor’s time.
C) The woman knows the professor has been busy.
D) The woman knows the professor has run into trouble.
6. A) Because she doesn’t want to.
B) Because she has to work in a restaurant.
C) Because she has to go to another party.
D) Because she has dated with her boyfriend.
7. A) She is trying to find a good chair.
B) She doesn’t know where the chair is now.

C) She thinks the chair is actually comfortable.
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D) She’s never sat in that chair before.
8. A) The rose gardens are on the opposite side of the park.
B) The roses in the gardens are not the best.
C) The rose gardens are on the west side of the park.
D) The roses grow outside the park, not inside it.

Questions 9 to 11 are based on the conversation you have just heard.

9. A) Her son. B) Her brother. C) Her father. D) Her nephew.
10. A) $50. B) $30. C) $20. D) $10.
11. A) A chess set. B> A pen and pencil set.
C) A book on athletics. D) A handball set.
Questions 12 to 15 are based on the conversation you have just heard.
12. A) He was crazy. B> They thought he was dead.
C) He had many broken bones. D) He fell out of a plane.
13. A) On a plane. B) On television.
C) On the ground. D) In a hospital.
14. A) The plane crashed to the ground. B) His two parachutes didn’t open.
C) He fell down while walking. D) A parachute fell on him.
15. A) He died. B) He jumped from a plane again.
C) He broke his leg. D) He went crazy.
Section B

Passage One
Questions 16 to 18 are based on the passage you have just heard.
16. 'A) China. B) India. C) Persia. D) Egypt.
17. A) The small bowl was put above the large bowl.
B) The large bowl was put above the small bowl.
C) The small bow! was put inside the large bowl.
D) The large bowl consisted of two equal parts.
18. A) Horseman. B) Drops of water. C) Brass doors. D) Metal balls.

Passage Two
Questions 19 to 21 are based on the passage you have just heard.
19. A) The excitement of nerve activities in the brain.

B) The difference between complex music and simple music.

10
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C) The effects of music on the results of math tests.
D) The classical music and reasoning ability
20. A) Because it stimulatcs your nerve activity.
B) Because it keeps you calm.
C) Because it strengthens your memory.
D) Because it interferes with your reasoning ability.
21. A) Rock music might help improve your math test scores.
B) The effects of music on tests do not last long.
C) Listen to music just before you take a test.

D) The more you listen to music. the better your reasoning ability will be.

Passage Three
Questions 22 to 25 are based on the passage you have just heard.
22. A) Dangerous. B) Relatively harmless.
C) Irritating. D) Openly aggressive.
23. A) They are a threat to most forms of living creatures.
B) They cannot be controlled effectively.
C) They will be wiped out with male mosquitoes one day from the earth.
D) They are a necessary element in the balance of nature.
24. A) High. dry mountains. B> Rivers and oceans.
C) Damp, swamp areas. D) Mountain forests.
25. A) The female lives on blood.
B) Some mosquitoes favor animal’s blood.
C) The fluid she injects carries disease.

D> She drives her snout through the skin.

Section C

Everybody wants to stay young. But youthful innocence only reflects the (26)

of the “half adult” generation. For many young people, adulthood means

being ordinary and (27) under a load of onerous responsibilities. “Being an

adult is no fun,” said an (28) girl. *You are a (29) person and a
conformist. You wear normal clothes and have to think a lot.” (30)
speaking. adulthood means no more partying, no easy money, and no (31)

glasses. An adult is seen largely as someone able and (32) to take over

11
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responsibility for his or her life.
The anxiety of growing up is (33) to the lack of adult role models and a

break in communications between generations. (34)

. (35

. The adoration of youth is also to

blame. (36) “

sociologist says. No wonder that getting old causes anxiety.

Part I Answers and Analyses

Section A

1. BENA, WEMKHMBYREENRES ., WHRIGH B A REE L E S HFH
AR (A

2. BKEANA, ZENRAMEEEFEENE . BRI ARG LRGN
HowHERS, BRRANBEFRAB T,

3.BERNC, HEMAMEEEFEMEN. BEAETFH - TIRG R 00T
T EEBEEIF P BRAES 3 SAEEEK.

4. BEHXN D, ZEMRAEFIEREISAHYNRES, FEHATERE (D BLHmETD
BIBIHL L AZHL:(2) & B W HEPLE 15 M/t U5, (H o SR B0 76 3R HLI 22 76 1H 4 1l
HHl, I A B.CIUHAEM S IR E LR TR MEERER B LK
Fe M Z BRI

5. BEHN B, HENK NS/ ZEMEES . 1 wouldn’t have troubled him so
much” B EHUG S .5 FZ B x5 AT 2 K 2 0Bt ] 48 .

6. BENB, ZHWXBEBEHELT MRS . EERSELEEN AT XL &
TRERKRIT T . WAES .

7.8 ENC, HENRBERBENFHZREAES., F—F, XKFTREELAZSA
R B EHBER LM AR~ XEUEFR. 5B LA FKIEHK.
8. BENA, HEMNAEBREEMTNGES. BLEMELTAEVEM, KAER S B

BB 5 1 4 A 8 B LR R, B BT AR . RN T e
F—mr,
9. BRAD, ZBMKXEMACIZEERMYNEESN. £+-BEE K% 20 Lxwil
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